Spring 2007 

Tel Aviv University

Faculty of Social Science

Eitan Berglas School of Economics

New Keynesian Macroeconomics

Homework no. 3

Note: Step by step derivation, for both questions, is given by the first class note of the NK course.

Problem 1

Write open economy extension of the closed economy flexible price model. 

Assume flexible exchange rate.

Problem 2

Assume 
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 in the no shock steady state. Recall that the neutrality of money implies that  
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= the nominal exchange rate.

Derive the equilibrium exchange rate equation
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